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1 Krishna started playing at 9 am. He is still playing. Which of the following sentences gives the same 
meaning
1 Krishna is playing since 9 a.m. 2 Krishna plays since 9 am,
3 Krishna was playing since 9 am. 4 Krishna has been playing since 9 am

2 Listen’s some body --------------- (call) you
1 has called 2 is calling 3 called 4 have called

3 I saw boy on the road
1a 2 an 3 the 4 None

4 -------- iron is --------------- useful metal
1 the, the 2 No article, an 3 An, an 4 No article, a

5 The members said that they would give a positive response
1 The members said “We give a positive response”
2 The members told “We would give a positive response”
3 The members said “We will give a positive response “
4 The members informed “We can give a positive response”

6 The Directors said that they would have to adopt a cautious approach
1 The director said “We will have to a adopt a cautious approach”
2 The director said “We may have to a adopt a cautious approach”
3 The director said “cautious approach would have to be adopted”
4 The director reminded “They will have do adopt a cautious approach”

7 The peon rings the bell.
1 The bell is ring by the peon.
2 The bell was rung by the peon.
3 The bell was rang by the peon.
4 The bell is rung by the peon.

8 They are picking some flowers
1 some flowers were being picked by them
2 some flowers are being picked by them
3 some flowers were been picked by them
4 some flowers are being pick by them

9 A formal invitation should contain
1 heading 2 salutation 3 complimentary close 4 none

10 The subscription in the letter written to close relatives will be
1 your truly, 2 yours faithfully, 3 yours obediently, 4 yours lovingly,

11 Karan and Varun are good friends and ----------- a lot ------ each other
1 see ,off 2 see, of 3 see , out 4 see , in

12 Identify the silent letter in the word ‘PSYCHIC’
1 p 2 s 3 h 4 c

13 Identify the silent letter in the word ‘ISLAND’
1 s 2 l 3 I 4 d

Choose the correct preposition
14 She is Suffering -------------- stomach ache

1 from 2 with 3 of 4 off

15 He is looking -------------- a painting with admiration
1 to 2 at 3 with 4 for
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16 He waited till 50 clock in the morning
1 pronoun 2 preposition 3 conjunction 4 interjection

17 Ramu and Raju good friends
1 pronoun 2 preposition 3 conjunction 4 interjection

18 Identify the wrongly spelt word
1 twelfth 2 nineth 3 ninety 4 eighty

19 Platinum is the most expensive metal (change into positive degree)
1 no other metal is so expensive as platinum
2 some other metals are at least as expensive as platinum
3 very few metal are as expensive as platinum
4 platinum is expensive metal.

20 Columbus ------------ India
1 invented 2 discovered 3 found 4 explored

21 Change the phonetic transcription into English word /t∫∆k/
1 check 2 change 3 chuck 4 chick

22 /u :/ sounds in
1 mull 2 door 3 shut 4 mute

23 Ramu “ I Would rather die , than beg”
1 Ramu wants to die 2 Ramu wants become a beggar
3 ramu feels it disgraceful to beg 4 Ramu doesn’t want to die

24 your friends is going on an excursion (what would you say)
1 It’s a pity 2 good luck 3 thank you 4 have a good time

25 you see a snake going towards your friend in the street. What would you say
1 How beautiful 2 what speed 3 Look out 4 Look at

26 Work hard lest you ------------ fail
1 can 2 must 3 may 4 should

27 Vagrant (synonym)
1 dejected 2 wandering 3 embarking 4 desperate

28 Idle (Antonym)
1 Busy 2 supply 3 lazy 4 introductory

29 I’d rather act according to my own will -------------?
1 would I? 2 will I? 3 wouldn’t I? 4 Didn’t I?

30 Rajesh has four brothers, ------------?
1 Does he? 2 is n’t he? 3 has n’t he 4 did he?

31 A man that is drowning will catch at a straw (Change into single form)
1 A Drowning man will catch a straw 2 a drowning man is catching straw
3 a straw catches at a drowning man 4 a drowning man catches straw

32 This was done in my absence (Change into complex form)
1 This was done when I absent 2 this was done when I was absent
3 This was done as a absent 4 this was done as I was made absence
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33 The cyclone    did great ---------------- to the crops
1 miracle 2 violence 3 destroy 4 damage.

      PASSAGE
Last Monday the little village of dining ton- on- Bain deep in the Lincolnshire welds, lot its last contact through public 
transport with the outside world. Once, Donington (population 236) boasted is own railway station. That closed a 
generation ago, and on April 1 the two bus services to Lincoln in one direction and South in the other, were 
withdrawn. Now the villages of Donington, a third of who do not own a car, face a three-mile trek for the nearest bus 
route.
Lincolnshire is not good bus country, with the population scattered around in little pockets over their flat, rich 
farmland, the buses have to cover long distances from people to place carrying only a few passengers at a time. The 
bus companies argue that they don’t make enough money on these journeys, and that even using the money they 
make on the busy routes to pay for the less busy ones they can’t make ends meet. So they cut back the service they 
need. For some the car has taken over.  
                                                                                                                                                                                        
34 For want of a transport system, the village people have to

1 use their own cars            2 walk long stretches to reach a bus stand
3 stay indoors most of the time         4 take lifts from vehicle owners passing the village

35 Lincolnshire is not a good bus country because 
1 it is a mountainous region                      2 it is too poor to afford a good bus service
3 it is very far off from the mainland           4 its population is distributed in small pockets over a vast region

36 The bus operators do not want to run their services in Lincolnshire because
1 it is not an economically sound proposition             2 it is risky to ply buses there
3 the passengers do not pay up the fare      4 there is shortage of buses with them

37 The withdrawal of the services has
1 made the village residents have a sigh of relief
2 left the village people cold and indifferent
3 inconvenienced the village residents
4 shocked the village residents beyond belief

38 The little village ‘lost its last contact... with the outside world’ because
1 its railways station was closed down
2 it was cut off due to heavy snow
3 its two bus routes were cancelled
4 its communication links were snapped

39 Find out which part of the sentence has an error
I was you (a) / I would not have (b)/ committed this blunder(c) / no error
1 a 2 b 3 c 4 d

40 Hyderabad is -------------- by M.C.H. (Choose the right word)
1 beautiful 2 beauty 3 beautified 4beautician

Key

1) 4 2)   2 3)   1 4) 4 5)   3 6) 1

7) 4 8)  2 9)  4 10) 4  11) 2 12)  1

13)  1 14)  1 15) 2 16)  2 17)  3 18)  2

19) 1 20) 2 21) 3 22) 4 23) 3 24) 4

25)  3 26) 4 27) 2 28) 1 29) 3 30) 3

31) 1 32) 2 33) 4 34) 3 35) 2 36) 4

37) 1 38) 3 39) 1                         40) 3
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1 Krishna started playing at 9 am. He is still playing. Which of the following sentences gives the same meaning


1 Krishna is playing since 9 a.m.
2 Krishna plays since 9 am,


3 Krishna was playing since 9 am.
4 Krishna has been playing since 9 am


2
Listen’s some body --------------- (call) you


1 has called
2 is calling
3 called
4 have called


3
I saw boy on the road



1a
2 an
3 the
4 None


4 -------- iron is --------------- useful metal



1 the, the
2 No article, an
3 An, an
4 No article, a


5
The members said that they would give a positive response


1 The members said “We give a positive response”



2 The members told “We would give a positive response”



3 The members said “We will give a positive response “



4 The members informed “We can give a positive response”


6
The Directors said that they would have to adopt a cautious approach


1 The director said “We will have to a adopt a cautious approach”



2 The director said “We may have to a adopt a cautious approach”



3 The director said “cautious approach would have to be adopted”



4 The director reminded “They will have do adopt a cautious approach”


7
The peon rings the bell.



1 The bell is ring by the peon.


2 The bell was rung by the peon.


3 The bell was rang by the peon.


4 The bell is rung by the peon.

8
They are picking some flowers


1 some flowers were being picked by them



2 some flowers are being picked by them



3 some flowers were been picked by them



4 some flowers are being pick by them


9
A formal invitation should contain


1 heading
2 salutation
3 complimentary close
4 none


10
The subscription in the letter written to close relatives will be



1 your truly,
2 yours faithfully,
3 yours obediently,
4 yours lovingly,


11
Karan and Varun are good friends and ----------- a lot ------ each other


1 see ,off
2 see, of
3 see , out
4 see , in


12
Identify the silent letter in the word ‘PSYCHIC’



1 p
2 s
3 h
4 c


13
Identify the silent letter in the word ‘ISLAND’



1 s
2 l
3 I
4 d



Choose the correct preposition


14 She is Suffering -------------- stomach ache



1 from
2 with
3 of
4 off




15
He is looking -------------- a painting with admiration


1 to
2 at 
3 with
4 for


16
He waited till 50 clock in the morning



1 pronoun
2 preposition
3 conjunction
4 interjection


17
Ramu and Raju good friends



1 pronoun
2 preposition
3 conjunction
4 interjection


18
Identify the wrongly spelt word



1 twelfth
2 nineth
3 ninety
4 eighty

19
Platinum is the most expensive metal (change into positive degree)



1 no other metal is so expensive as platinum



2 some other metals are at least as expensive as platinum



3 very few metal are as expensive as platinum



4 platinum is expensive metal.



20
Columbus ------------ India



1 invented
2 discovered
3 found
4 explored


21
Change the phonetic transcription into English word /t∫∆k/



1 check
2 change
3 chuck
4 chick


22
/u :/ sounds in



1 mull
2 door
3 shut
4 mute


23
Ramu “ I Would rather die , than beg”



1 Ramu wants to die
2 Ramu wants become a beggar



3 ramu feels it disgraceful to beg 
4 Ramu doesn’t want to die


24
your friends is going on an excursion (what would you say)



1 It’s a pity
2 good luck
3 thank you
4 have a good time


25
you see a snake going towards your friend in the street. What would you say



1 How beautiful
2 what speed
3 Look out
4 Look at


26
Work hard lest you ------------ fail



1 can
2 must
3 may
 4 should




27
Vagrant (synonym)



1 dejected
2 wandering
3 embarking
4 desperate


28
Idle (Antonym)



1 Busy
2 supply
3 lazy
4 introductory


29
I’d rather act according to my own will -------------?



1 would I?
2 will I?
3 wouldn’t I?
4 Didn’t I?


30
Rajesh has four brothers, ------------?



1 Does he?
2 is n’t he?
3 has n’t he
4 did he?


31
A man that is drowning will catch at a straw (Change into single form)



1 A Drowning man will catch a straw
2 a drowning man is catching straw



3 a straw catches at a drowning man
4 a drowning man catches straw


32
This was done in my absence (Change into complex form)



1 This was done when I absent
2 this was done when I was absent



3 This was done as a absent
4 this was done as I was made absence


33
The cyclone    did great ---------------- to the crops


1 miracle
2 violence
3 destroy
4 damage.





      PASSAGE


Last Monday the little village of dining ton- on- Bain deep in the Lincolnshire welds, lot its last contact through public transport with the outside world. Once, Donington (population 236) boasted is own railway station. That closed a generation ago, and on April 1 the two bus services to Lincoln in one direction and South in the other, were withdrawn. Now the villages of Donington, a third of who do not own a car, face a three-mile trek for the nearest bus route.


Lincolnshire is not good bus country, with the population scattered around in little pockets over their flat, rich farmland, the buses have to cover long distances from people to place carrying only a few passengers at a time. The bus companies argue that they don’t make enough money on these journeys, and that even using the money they make on the busy routes to pay for the less busy ones they can’t make ends meet. So they cut back the service they need. For some the car has taken over.  


                                                                                                                                                                                         34
For want of a transport system, the village people have to



1 use their own cars
           2 walk long stretches to reach a bus stand



3 stay indoors most of the time         4 take lifts from vehicle owners passing the village

35
Lincolnshire is not a good bus country because 



1 it is a mountainous region
                     2 it is too poor to afford a good bus service



3 it is very far off from the mainland           4 its population is distributed in small pockets over a vast region


36
The bus operators do not want to run their services in Lincolnshire because



1 it is not an economically sound proposition              2 it is risky to ply buses there



3 the passengers do not pay up the fare
     4 there is shortage of buses with them



37
The withdrawal of the services has



1 made the village residents have a sigh of relief




2 left the village people cold and indifferent



3 inconvenienced the village residents



4 shocked the village residents beyond belief




38 The little village ‘lost its last contact... with the outside world’ because



1 its railways station was closed down



2 it was cut off due to heavy snow



3 its two bus routes were cancelled



4 its communication links were snapped


39
Find out which part of the sentence has an error



I was you (a) / I would not have (b)/ committed this blunder(c) / no error



1 a
2 b
3 c
4 d



40
Hyderabad is -------------- by M.C.H. (Choose the right word)



1 beautiful
2 beauty
3 beautified
4beautician


Key



 1) 4

2)   2

3)   1

 4) 4

5)   3

 6) 1




7) 4

8)  2

9)  4

10) 4  

11) 2

12)  1




13)  1

14)  1

15) 2

16)  2

17)  3

18)  2




19) 1

20) 2

21) 3

22) 4

23) 3

24) 4




25)  3

26) 4

27) 2

28) 1

29) 3

30) 3




31) 1

32) 2

33) 4

34) 3

35) 2

36) 4



37) 1

38) 3

39) 1                         40) 3
 

